g = g | HESD) | XUEEZE) | YUIE) CIE pub.30.2-1982 #£H1L
ERED BEHEE BAED
[5#E]
L HRX S FEI3ER
BA (00) HELIER 10.5m
R ASETNGH n PROMTEIER |-
maEo § F | | e = oA o
— 3.5m LIRS [0.0m
———————— ‘_H—;_“ﬁ——uﬁ_w_-—d———- == REI%EIE S 0.0m
WMW___H___%_J . REIARER  |00m
KT B HR A4 R P 42.0m
T e o T T T T T T T
e
3.5m <BESHR-BHE> cd/m
([0 0 .
. | 030- 050- 070-  090-  1.10-
! L 0.49 0.69 0.89 1.09 1.29
42m
<BESME-BRIE> I
R{EI
XEER = BESH  SEH = BESH
LR i ) D X GE L35
~t i fE(m) 0.00 420 g40| 1260] 1680 21.00] 2520 2940 3360[ 37.80 o 15 PR fRSEE 10.70 FEmS FAES
035 084| 094| 099| 1.08| 129| 125| 1.18]| 098 096 | 0.93 M C2 FARI7IVE
1.05] 0.85 0.95 1.02 1.09 1.26 1.27 1.28 1.11 0.95 0.92 [T E1E$R]
1.75| 0.86 0.88 0.98 1.01 1.09 1.13 1.17 1.10 1.02 0.92 L& BfZIK FHERK F|ENER | &S(H) | AEWNVA) OH
245 0.81 0.86 0.88 0.91 0.97 1.01 1.05 1.02 0.97 0.91 EE u EWLF83-D66CW-GF-75 11970Im 12.0m 15.0° -0.70m
__ 315 _017__ _0.21__ _O.ﬂ)__ _Oﬂ_ Eiﬁ_ 293 _291_0_.94__0_.94_ _(EG_ AL [ | EWLF83-D66CW-GF-75 11970Im 12.0m 15.0° -0.70m
385 0.73 0.73 0.75 0.77 0.78 0.80 0.87 0.89 0.88 0.82
455 0.67 0.68 0.67 0.70 0.69 0.74 0.81 0.82 0.80 0.77
525 0.64 0.63 0.61 0.63 0.64 0.69 0.73 0.74 0.73 0.71 [GHE#HER]
595 0.60 0.58 0.55 0.57 0.59 0.62 0.68 0.66 0.66 0.65 HEE TR E TR 0.70 cd/mi BRMHFEWU) (074
__ 6.65] _0£6__ _0.24__ _OE 1 _0.5_2__ 25_4_ ESE _&61__0_.61__@0_ _%1_ el 3 WEWFEWUO) 046 FExIEELENTD  |8.2%
735 053 | 051 | 047 047]| 052| 054| 057| 054| 055| 057 SES | SE) | THRE |- SE(F) | FHRE |-
8os| 049 | 047| 043| 043]| 047| 049| 050| 048| 050| 053 = LB gz |- REI 1oz |-
Y 875 045 0.44 0.40 0.40 0.42 0.44 0.44 0.43 0.46 0.48
] 945 042 0.40 0.37 0.36 0.38 0.37 0.39 0.39 0.42 0.43 NPATIN .
& 10.15| 0.39 0.36 0.33 0.34 0.32 0.32 0.34 0.36 0.38 0.39 A AAES1> /;'l/fjo|
i) E%E(DEL%TH#'E(_&CIE&E#?—?‘)LEEFHL‘CL\*TO BfI:cd/m wRE R B **_tA*iCGS
HENEREENOFEIFERT I THREREDEL. ARECIVEHL-LDET S, F—rRr—)L 20217816 H A=




5= = g | HESD) | XUEEZE) | YUIE) CIE pub.30.2-1982 ##1L
EHER EEHEE BAEQ
[5#E]
Ll HRX S FEI3ER
B (00 HELIER 10.5m
DT ANGHE n PROMTEIER |-
[P T LB5HER_ [oom
E 3.5m LA EIES 0.0m
BEE E“—F‘—mﬂ*ﬂ——h__—m—___—“_h—__t‘:“:; :__,Fﬁjif REIHEES  [0.0m
—p - REIEEREE 0.0m
e >om MERMARERE  |420m
ST I
3.5m <BESHR-BHE> cd/m
L 11 C 1 0 e
| | 030- 050- 070-  090-  1.10-
! L 0.49 0.69 0.89 1.09 1.29
42m
<BESME-BRIE> I
R{EI
XEER = BESH  SEH = BESH
[FEEZ R E)EIER X7 1] (G eI
~t i fE(m) 0.00 420 g40| 1260] 1680 21.00] 2520 2940 3360[ 37.80 o 15 PR fRSEE 10.70 #EES (AR5
035 076| 085| 098| 1.06| 128| 124| 1.18]| 096| 093] 0.88 M C2 FAI7IVE
105 0.85 0.96 1.03 1.16 1.32 1.33 1.31 1.13 0.98 0.97 [T E1E$R]
1.75] 0.95 1.00 1.11 1.19 1.26 1.28 1.26 1.18 1.08 0.98 L& BfZIK FHERK F|ENER | &S(H) | AEWNVA) OH
245 094 1.03 1.05 1.09 1.16 1.13 1.15 1.10 1.04 0.98 EE u EWLF83-D66CW-GF-75 11970Im 12.0m 15.0° -0.70m
__ 315 _021__ _0.23__ _0.%__ _O%J_ _1(E L lOﬁ _LO&_L.OZ__H)I_ _(5)2_ AL [ | EWLF83-D66CW-GF-75 11970Im 12.0m 15.0° -0.70m
385 0.82 0.84 0.85 0.89 0.93 0.94 0.99 0.96 0.93 0.86
455 0.78 0.79 0.79 0.77 0.82 0.82 0.88 0.88 0.84 0.81
525 0.71 0.70 0.68 0.73 0.74 0.75 0.78 0.80 0.77 0.75 [GHE#HER]
595 0.64 0.63 0.62 0.66 0.66 0.69 0.73 0.73 0.70 0.68 HEE TR E TR 0.76 cd/mi HigmYFEWU) 085
__ 6.65] _0£0__ _0.29__ _0.21__ _05_7 L Efﬂ_ 261 _&62_0_.64__@3_ _0_63_ el 3 WEWFEWL) (044 FExIEEEENTD  |7.3%
7.35] 0.55 0.54 0.50 0.52 0.56 0.59 0.60 0.56 0.57 0.59 sHEe | HE) | FHRE (- $iE(F) | FHRE |-
gos| 051| 049| 046| 046| 049| 051 | 053] 050| 052| 055 = LB gz |- REI 1oz |-
Y 875 047 0.46 0.42 0.41 0.45 0.46 0.46 0.45 0.48 0.49
] 945 043 0.41 0.38 0.38 0.40 0.39 0.40 0.41 0.43 0.44 NPATIN .
& 10.15| 0.40 0.37 0.34 0.35 0.34 0.33 0.34 0.37 0.39 0.40 A AAESA> 9/{70|
i) ﬂ%ﬁd)ﬁ%ﬂ#'fﬁ{isCIE&E#F‘-?‘)I«’&EFHL‘CL\&TO BfI:cd/m wRE R B **_tA*iCGS
HENEREENOFEIFERT I THREREDEL. ARECIVEHL-LDET S, F—rRr—)L 2021%&7816H =




=+ = gaE | HES | XUEZE) [ YUIE) CIE pub.30.2-1982 %1
EER EEHEE BAEQ
[£%R]
LI HRR S ARI3ER
HELES 10.5m
R 00 m ~ m PRAMBIRE |-
w T ] LA EER  [0om
F 3.5m LIRS [0.0m
— — R S RN ——— —— —— — REIGERE 0.0m
e . REZEEER  |oom
e e S e s SRR TG 42 Om
HgREQ S
— ' T T T e—— 35m <HEHEE-BIE> oo/
L 11 C 1 0 e
| | 0.30-  050- 070-  0.90-  1.10-
! L 0.49 0.69 0.89 1.09 1.29
42m
<BESME-BRIE> I
Ry
KEEH = BENT  SE = BENS
[FEEZ A fE]EiE i XA [GtE&H#]
~FiEfE(m) 0.00 4.20 840 1260 16.80] 21.00] 2520 29.40| 3360[ 37.80 o i E R fR<FE [0.70 /AR [FAIESS]
035 065| 073 081| 089 115] 1.19| 1.15]| 093| 089 | 0.83 M C2 FARI7IVE
105 0.75 0.84 0.96 1.08 1.30 1.32 1.31 1.12 0.95 0.93 (AT E1E3R]
175 0.87 0.93 1.09 1.19 1.34 1.32 1.29 1.17 1.08 0.98 L& BfZIK #HERH F|ENER | &S(H) | AEWNVA) OH
245 094 1.04 1.13 1.22 1.32 1.26 1.25 1.16 1.09 1.03 EE u EWLF83-D66CW-GF-75 11970Im 12.0m 15.0° -0.70m
__ 315 _130__J£6___1.£3__ _12_ _11_7_ lZL _L1i_1_.15__u)8__1._02_ AL [ | EWLF83-D66CW-GF-75 11970Im 12.0m 15.0° -0.70m
385 0.95 1.05 1.01 1.07 1.07 1.05 1.09 1.05 1.02 0.94
455 0.90 0.93 0.94 0.96 0.94 0.96 0.98 0.96 0.94 | 0.87
525 0.80 0.82 0.83 0.83 0.84 0.88 0.91 0.87 0.82 0.80 [GHE#HER]
505] 0.75]| 076| 072] 073| 075| 076 078| 077]| 074| 073 b FHRESEE 080 cd/ni HRSFEWL) 088
__ 6.65] _0£7__ _0.26__ _0.6_2__ _0.6_8__ 2@_ 272 _273_0_.68__0_.67_ _(!37_ el 3 HREHFEWLO) (044 A ERELE D |5.7%
7.35] 0.58 0.58 0.57 0.59 0.61 0.63 0.64 0.61 0.61 0.62 sHaen | sack) | FHRE |- $iE(F) | FHRE |-
gos| 054| 055| 051 | 051 053] 057 056| 053| 055| 056 = LB gz |- REI 1oz |-
Y 8.75| 0.49 0.49 0.45 0.45 0.47 0.49 0.49 0.47 0.50 0.51
?E]J' 945 0.46 0.44 0.41 0.39 0.43 0.42 0.42 0.42 0.44 | 0.46 v 2 b4h54> /)'l’fjol
10.15| 0.42 0.39 0.36 0.37 0.36 0.35 0.36 0.38 0.40 0.41
i) E%E(D)i%ﬂ#'fil_&ClEJiE?h‘-—j‘)l«EEFHL‘CL\iTO BfI:cd/m A R B **_tA*iCGS
X EEENOHEICFERATITHREEEDE. AFEICIYVEHLIZLDET S, F—rRr—)L 20217816 H =




